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Which of the following amine will be prepared by Gabriel

phthalimide reaction?

(1) n-Butylamine
(2) Triethylamine
(3) neo-Pentylamine

(4) tert-Butylamine
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Reaction of dilute HCI with maltose gives:
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(1) D-glucose
(2) D-fructose

(3) D-glucose and D-fructose

(4) D-galactose
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The correct order of K} value of following is
(C'QH5)2NH, NH?)N(CQH5)3

(1)1 >2>3
2)1 >3 > 2
3)3>2>1
4)3 >1> 2
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Write IUPAC name of the following compound

OH

OH O

(1) 3-hydroxy-2-methylpentonioic acid
(2) 4-Methyl-3-hydroxypentaoic acid.
(3) 3-Hydroxy-4-methylpentanoic acid.
(4) 2-Methyl-2-hydroxypentanoic acid
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O

(1) Cl
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3) O Cl

(4)

4) Cl
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“N\CHs
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3) _ _ _
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OH

N=N—Ph
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OH
(4)

(4) CH2—CH2—BF

CORRECT OPTION: 1

® Watch Free Video Solution on Doubtnut

9 - 9364351

JEE MAINS 08 APRIL 2019 - PAPER 1 SHIFT 1 -
MEMORY BASED - CHEMISTRY

Find the compound X which give following test

neutral F'eCls — — ve

Fehling solution — — ve

lodoform reaction — 4 ve ,brgt Grignard reagent

— + ve
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1
C—C2Hs

(3)
3) OCH3
|
C—-C2Hs
(4)
s OH
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|dentify the compound X

H20 Insoluble
X
10% HCI
Insoluble
10% NaOH
— 5 Soluble
10% NaHCOs
> [nsoluble
(1) Toluidine

(2) Benzamide
(3) Para-cresol
(4) Oleic acid
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Which of the following is not correct for an ideal gas as per

first low of thermodynamics
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(1) Adiabatic A U = — w
(2) Isothermicqg = — w
(3)cyclicq = — w

(4) isobaric A U = q
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€T
In Freundlich isotherm — o< P? find the value of a from
m

the following graph
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log—

Log P

12
()g

21
()g
3

(3) 5

(4) 1
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In a mixture of A and B having vapour pressure of pure A
and B are 400 m Hg and 600 mm Hg respectively. Mole
fraction of B in liquid phase is 0.5. calculate total vapour

pressure and moel fraction of A and B in vapour phase-

(1) 500, 0.4, 0.6
(2) 500, 0.5, 0.5
(3) 450, 0.4, 0.6
(4) 450, 0.5, 0.5
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Arrange the following set of quantum number highest

energy of an electron.

(pn=4 i=1 m=+1 s= + 3
Wn=4i=2 m= -1 s= — 3
(r)n=3 i=2 m=0 s= + 3
(sih=3 i=1 m=+1 s= — 3
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(1)g>r>p>s
2)g>p>r>s3)s>p>r>q
4)s >r>p>q

CORRECT OPTION: 2

® Watch Free Video Solution on Doubtnut

15 - 9364362

JEE MAINS 08 APRIL 2019 - PAPER 1 SHIFT 1 -
MEMORY BASED - CHEMISTRY

A forms ccp lattice B occupy half of the octahedral voids

and O occupy all the tetrahedral voids. Calculate formula-

(1) A; BO,
(2) ABO,

(3) A B,O
(4) Ay BoO
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® Watch Free Video Solution on Doubtnut
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By Hg reacts with Oy and H5O respectively to form

(1) B2O3, H3BO3
(2) BoOs, BH,
(3) HBO,, H3BOs
(4) Hy; BOs, HBO,
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Solution of 100 ml water contains 0.73 g of Mg(HCO:s),
and 0.81g of Ca(HCO3), calculate the hardness ini terms
of ppm of CaCOs

(1) 10%p +
(2) 10*p +
(3)5 x 10%p +
(4)10°p +
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for Zr3(POy4), the solubility product is K, and solubility is

S. find the correct relation

K.\ /T
6912

3 Ksp 1/7
os- (%)
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B Ksp 1/8
(3)5 = (216)

B Ksp 1/3
4)5 = (912)
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Given complexes are low spin complexes
V(CN)]"

Cr(NHs)g]""

Ru(NHs),)
Fe(CN)g|"~

Then of magnetic (1) for Fe* ™, Crt3, Ru™ is

3+

M V2T > Cr*t > Fe?™ > Ru®™
2)Fe’t > V2T > Crt? > R’
B)YV?T > Cr*t > Ru’T > Fe?t
@) Fe* T grer™ > V2T > Ry
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given ES20§— /SO>™ ~ (o) =2.05V

E§T2/BT_ = 1.40V
Eju3+/Au = 1.10V ,brgt E(;2/H20 = 1.20V

Which of the following is the strongest oxidizing agent ?

(1) S20%
(2) Bro
(3) Au™3
(4) O
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Assertion : Ozone is getting depleted due to CFCs
Reason: With depelction of ozone layer more UV radiation

filters into troposphere

(1) both assertion and reason are true and reason in the
correct explanation of assertion.

(2) both assertion and reason are true but reason is not
correct explanation of assertion.

(3) Assertion is true but reson is false.

(4) Assertion is false but reason is true
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In which of the following order of hydrogen energy correct?

M Li™ >Na™ >K TRb™ > Cs™
2)Li" < Na™ < KT < Rb" < Cs™
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B)LiT > Nat >K*'" >Cs™ > Rb"
A Lit < Nat < KT <Cs™ < Rb*
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Ellingham diagram is used for

(1) reduction

(2) electrolysis
(3) zone refining
(4) Van-arkel
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In isoelectronic species Cl~, Ar, Ca’®™" size differ due to

(1) Nuclear charge
(2) electronic-electronic repulsion in valence shell

(3) Magnetic quantum number principal number

(4)
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3 mole of Ag is heated from 300K to 1000K calculate A\ H
when P = 1atmand C), = 23 + 0.01T

(1) 62kJ / mol
(2) 45kJ / mol
(3) 38kJ / mol
(4) 54kJ / mol
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FeCy0y, Fey(C204),, FeSOy, Fey(SO4), one mole

each, will react how many moles of K MnQy.

(1)1
(2) 2
(3) 3
(4) 5
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Al [B] Initial Rate
0.05 0.05 0.045
0.10 0.05 0.09

0.20 0.10 0.72
for 2A + B — (. Find the rate low

(1) R = K[A]b
(2) R = k[A][B]”
(3) R = k[A?|[B]
(4) R = k[A]’[B]’
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Which of the followig lanthanoid ions are coloured
(a). Lu ™3

(b). Pm ™3

(c). Sm ™3

(d). Eu ™3

(1) Lu™3, Pm ™3, Sm™?
2) Pm™*3, Sm™? Eu™3
(3) Lu™3, Pm ™3, Sn ™3

4) Lu™3, Sm™3 Eu™3
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